LB 1RARFRIRAR

T/TS R R=R
B& UL, TESHEIX 150 mm

o MMFEMK, BITKEATE 100 x 10° Kigs)
o M, mmnlik £0.075%

o BUhARESNFF

o SRR T AER B AR FT I R O 1 R )

o BfTHER & E 10 m/s

o ispdi s TEREI ¥

o i th HL BT B S m] o

TEL:400-900-8812 / 021-51098812

Al % 2% N 52 g 7R £E PCB
i T R LB REBEAEL, AT
SEEURS 9 1 5 0 A0 R 00

novotechnik

FH 5% 4 Ja ) 12 ) 26 ke s
A T BELJE Ao 3 2% o 3
MR, BUAEAE f s T e

R R AEE A Gl Zopdi R SR R R IE 5
BHATRHE S A MRS B AT SE Bz fink
Ak,
1 AR P I ER B A5 A HR A

(T RHEAERAT Y E—Y5 ), W
PRIEfE &S B8 |, B
TR IERRAT M 518 8)%2 1

FMAEEZE S, WMASHIRE &
¥ o

W B

Ap 5 PRAR A AL

% £ Al et

B A A4 AISI 303

B B8 WA M5 x 0.5 AL MR HER, W KALBE, A7 ohsit )
TPk Ahk T i 2 i R il i

WL TR SR

2R e 2 A R, HEBAPEBHTE

WA

T &5 3 M5 PVC B4, 3x0.14 mm?, K2k
TS £51 5 4 IEC 130-9 Il 4 3

1T HAE

B 5 REHES

T-0025 023202

TS-0025 023232

T-0050 023203

TS-0050 023233

T-0075 023204

TS-0075 023234

T-0100 023205

TS-0100 023235

T-0150 023206

TS-0150 023236

AREPERE

TTH R

B 5 FRES ISR
T-0025-.1 023207 +0.1%
TS-0025-.1 023237 +01%
T-0050-.1 023208 +0.1%
TS-0050-.1 023238 +0.1%
T-0050-.05 023209 +0.05 %
TS-0050-.05 023239 +0.05 %
T-0075-.05 023213 +0.05 %
TS-0075-.05 023243 +0.05 %
T-0100-.05 023214 +0.05 %
TS-0100-.05 023244 +0.05 %
T-0150-.05 023215 +0.05 %
TS-0150-.05 023245 +0.05 %

48T : 18017400327 www.volfa.com info@volfa.com



EEIRgaFaRAs NOVOLCK

276

o o
< o oo
4 (@ T TR 2
' < olo
o d

DIN EN SO 1207 aa "l g
M4x10 .
HE I 18 2 igE ﬂ
#x K 140 Nem o ep i
N
DIN EN 150 1207 [1] 16 - o
= N M4x10 s
g L 18
© ek 140 Nem
~
|
N £
S Fagd .
@ SW-10 i
m i
N HRAMA
» -
22}
| M SW-10
@
@I l@] =
745
|

@ | @] =
| D @] °
]
M5x0,5
403 M5x0,5
28,8 288 +03
40 - 4—‘0
1 kifta 1
24 2
3 3
Bk Lkl

TEL:400-900-8812 / 021-51098812 48T : 18017400327 www.volfa.com info@volfa.com



EEIEmRTAaRAT NOVOLCK

BEEX T-0025 T-0050 T-0075 T-0100 T-0150 RS
TS-0025 TS-0050 TS-0075 TS-0100 TS-0150 Sk
BSSH B
TAERFR 25 50 75 100 150 mm
AT 27 52 77 102 152 mm
o o PRLAEL 1 5 5 5 5 kQ
BEAF 2 2% 20 +%
T 2k 0.2 0.15 0.1 0.075 0.075 +%
CIE-R3 0.002 mm
T AR LR <1 pA
SRR R f5 K L 3 10 mA
R A TAERLE 42 \
it RS i\ PR A RGIRLE R AL W5 ppm/K
#a %L (500 VDO) >10 MQ
#8238 B (500 VAC, 50 Hz) <100 pA
WS
Shaet i (RFA) 63 88 113 138 188 + 1 mm
BRI (RS B) 30 55 80 105 155 +1.5mm
B
iR 140 160 170 190 220 g
LiEi PN 86 107 132 150 190 g
AFEREE AR AT 35 43 52 58 74 g
TAESZ T (ARFT510 ) <0.30 N
ERE TR A i 1 mm AT, E 2.50 FiE i
T S T 1 e K S AL 140 Nem
INESH
T AR L -30 ... +100 c
unhdibrife 5...2000 Hz
A= 0.75 mm
Apax = 20 g
il shbrife 50 g
11 ms
H oy >100 x 10° ®
s 471285 4% IP 40 (DIN EN 60529)

EEM 33-70

EEM 33-71

REABERE R

34

EEM 33-72

31

e
44~ 73-31 kR
FEimgms: 059010

H#J, IEC 130-9,
5%0.75 mm?, @ 4-6 mm
EEM 33-70, Aiirhii, IP67
EEM 33-71, bz, P40

25423k, IEC 130-9
EEM 33-72, Bk, P40

EEEmM

IR RS L.
A, M. Pk
PRLAE Fn o3 HeTE 2K A 6 B 2R 0805
Bl RBESTIEEBH
TR 234 v i 2 i HH P
FEG IR, L R AN Rk
(le < 1pA) S .

24 Z- 45 ¥, WE
44 M4 x10 #8457
1 ANERES

SRR RS MAP ...
&5 MUP.. / MUK ...,
TAEH)E 24V, wrdE(ESHH

TEL:400-900-8812 / 021-51098812

SFT : 18017400327 www.volfa.com

WA S, AT

info@volfa.com



